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Parent Graphs - 
	Constant/(Horizontal)
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Reflections in the Coordinate Axes

Reflections in the coordinate axes of the graph of y = f(x) are represented
as follows.

1. Reflection in the x-axis: h(x) = —f(x)
2. Reflection in the y-axis: h(x) = f(—x)
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[image: image25.jpg]rVertical and Horizontal Shifts

Let ¢ be a positive real number. Vertical and horizontal shifts in the graph
of y = f(x) are represented as follows.

1. Vertical shift ¢ units upward: h(x) = f(x) + ¢
2. Vertical shift ¢ units downward: h(x) = f(x) — ¢
3. Horizontal shift ¢ units to the right:  h(x) = f(x — ¢)
4. Horizontal shift ¢ units to the left: h(x) = f(x + ¢)
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	Quadratic
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	Sin
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Transformations:

Describe the shift. Graph the parent graph and the transformed graph:

1. 
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Describe the shift. Graph the parent graph and the transformed graph.
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Describe the shift. Graph the parent graph and the transformed graph.
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Multiple Transformations:

Given the parent graph, describe the changes to the graph:

1. 
Parent Graph: y = x2

a) y = x2 + 3 



b) y = - (x+5)2



c) y = - 2 (x2 + 4) 

Sketch the graph using your knowledge of the parent graph.

2. 
y = 
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3. y = 
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4. y = – (2x)3 + 1 


5.
y = 2x + 1 


6. y = – 1/5 x2


      7.  y = – (2x  + 6)2 - 4  
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Sine/Cosine Graphs Worksheet 
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Sketch the graph of each function for one period using radian measure.  Label the significant values on the graph. 

1. y = sin(()




Amplitude:

Period:

Five Key Points:

2. y = cos(()



Amplitude:

Period:

Five Key Points:

3. y = 5cos
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Amplitude:

Period:

Five Key Points:

4. y = 2 sin(()


Amplitude:

Period:

Five Key Points:

5. y = -3 sin(2()


Amplitude:

Period:

Five Key Points:

6. y = -2cos
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Amplitude:

Period:

Five Key Points:

7. y = 2cos(()  + 3

   

Amplitude:

Period:

Five Key Points:

8.  y = -2sin(()



Amplitude:

Period:

Five Key Points:

9.  y = sin
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Amplitude:

Period:

Five Key Points:

10.  y = cos 
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Amplitude:

Period:

Five Key Points:

Non-Rigid Transformations


1. Stretches the graph 	                	h(x) = cf(x), c>1


2. Shrinks the graph 	                	h(x) = cf(x), c<1


3. Shrinks the graph 	                	h(x) = f(cx), c>1


4. Stretches the graph 	                	h(x) = f(cx), c<1
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